IBF TNEHMP _HHPE

. (10%)KILEEHR 7 = 1 + cos§ RMERIBEC B,
. (10%)8& f(x,y) = 222 — 2y + 4% — 22 + v
df

(a) K f 2% P = (0,0) RAE U = (v3/2,1/2) 2B QB (g)m?
(b) % P = (0,0) &, B—ES5E v H5EEE (df) p BA?

ds

. (10%)8& (a,b,c) REHBE zyz = 1 E2—%, HP a,b,¢c > 0, RKB=FERFH z = 0,
y=0,z=07%8 (a,b,c) LUFEPTIBE 2 EETE,

3 1
(10%)K / / eV’ dydx 218
0 J %

1 1
- (15%) KRB 2% + 2 + 2° < 1 REH (v — 5)2 +9? < 7 1R, W 2 > 0 K2
B,

2

2
L (15%)K f(z,y) = % — 3By — y— 2?4y < 1 EoBEAERESE 2,

. (15%)8BFE 2y + 42 = 5 BEE 2° + 42 + 4y? 8, SR T. B Lagrange
multiplier /%, X7 ' £, ®R5EIREES

0z 0z 0z 0z

- (15%)B 2 = f(z,y), Tz =u?—0? y—2uvo?8%&a ﬁﬁuv&au 821%
R,
2 of _of
. (15%) 8 f(x,y) mE 9~ 0y’
(a) R—B—R, ZRR=RHIAL f(z,y), MELmEHT
. Of

b = =0 — 1y, K =,
(b) u=xr+y,v=x—y 5

{D_\
(c) EIiER, IREEMILL [ THEERR?



